No. BE  [Fon-—h-F K4 £ &

1 100m 832 ®BEk EH 1 SfE

2 100m 955 A e 1 AEE
3 100m 1638 e XE 2 LEEE
4 100m 1676 WWE Bt 2 | LEERERE
5 100m 1763 W EBX 2 ftA

6 100m 1634 ZE EE 2 LEEE
7 100m 1786 K T 2 LEHO
8 100m 902 AT RS 1 LEHO
9 100m 833 FH BA 1 SiE
10 100m 1896 BE X 2 E=EHLE
11 100m 2065 IR =8 2 TREIL
12 100m 2064 B AR 2 TREIL
13 100m 1823 AR REE 2 BH
14 100m 1907 INFE OEKX 2 LEIXS
15 100m 1643 Hft EBFn 2 (E3E]
16 100m 1709 BKX IFZ=E 2 AEE
17 100m 2084 B 2 LLIF5
18 100m 1658 =1 EA 2 AXRLE
19 100m 894 it RAE 1 LEHEFE
20 100m 1309 WA FE 1 ERF
21 100m 1064 P NTEER 1 ftA
22 100m 1743 I FRA 2 LERES
23 100m 956 WE fE 1 LET
24 100m 1664 =d & 2 =EER
25 100m 1669 iR B 2 INZ} &[4
26 100m 1839 PPN 2 AXRLE
27 100m 1922 HE X 2 =}
28 100m 1975 218 @b 2 /NS
29 100m 895 Figk EX 1 LEHEFE
30 100m 2082 I EE 2 =Nt
31 100m 2188 B BE 2 EH
32 100m 1646 AIE EH 2 (E3E]
33 100m 910 [RE Eth 1 LERES
34 100m 2089 AR PE 2 LESE
35 100m 2194 He Bk 2 [GRE
36 100m 2138 PIE 4% 2 HAHEA
37 100m 1996 BR &3 2 REFF
38 100m 1018 WHE RE3 1 =
39 100m 1266 #H hiE 1 TREMFF
40 100m 1052 B BF 1 AN =T
41 100m 2176 " hiE 2 LE
42 100m 1665 == 2 ES i
43 100m 1291 HE KX 1 =il
44 100m 1390 A 1 LEIXS
45 100m 1961 RE EFE 2 TE

46 100m 1650 I —% 2 | Ri&kd-wis
47 100m 1083 hip S 1 L5
48 100m 1167 S H AR 1 =5
49 100m 2127 XA ##% 2 EHT
50 100m 1068 HA Nt 1 FHHE
51 100m 1652 XH FABB | 2 | Ri&kd-TE
52 100m 1020 Z)| 24 1 TE
53 100m 2221 BRX E— 2 ERF
54 100m 826 MO i 1 Nl
55 100m 831 s RXK 1 Nt
56 100m 908 X FOiE 1 25T
57 100m 1328 BIE  F04 1 =k
58 100m 1350 WA %8 1 1L1B5
59 100m 1038 Z)Il P 1 ZHT
60 100m 968 far KA 1 LEHRT
61 100m 866 G PN 1 N} %
62 100m 2023 A EiE 2 AICJ
63 100m 1025 =RE KiE |1 BES
64 100m 1981 2R B 2 25T
65 100m 1087 TE —Z 1 LEHE




No. BE [Fon-—h-F K4 £ &
66 100m 1371 EH OAIRER | 1 7=
67 100m 2068 FE —# 2 PR
68 100m 1111 BH M 1 HH™HAE
69 100m 1434 BE 8 1 LET
70 100m 1070 e A= 1 FHKHE
71 100m 1128 AR B 1 [ K B
72 100m 1166 A =T 1 LB
73 100m 2230 AR EH/ 2 B
74 100m 1269 BE fE 1 | IGEEE¥RB
75 100m 1258 &8 =Rk 1 HEFA
76 100m 1122 B RAER 1 E=hil
77 100m 1314 FIE BE 1 LETTI
78 100m 1279 gk %3 1 BX
79 100m 1027 &8 %z 1 Al &R
80 100m 1283 & B4 1 EH
81 100m 2259 fERK $hE | 2 AH
82 100m 1392 na &g 1 [ K bt
83 100m 1061 iR &L 1 ZEE
84 100m 1126 SR X 1 E=hiil




No. BE  [Fon-h-F K% B FiE

1 200m 832 ®Ek EH 1 SfE

2 200m 1763 we EBX 2 ftA

3 200m 955 A fhE 1 AEE
4 200m 1659 EN AF} | 2 AXHLE
5 200m 1638 e XE 2 LEEE
6 200m 1636 #HE BE 2 LEEE
7 200m 1927 =i 185 2 =1

8 200m 1709 BKX = 2 AEE
9 200m 1688 fERKR Far | 2 SfE
10 200m 1743 BN $RA 2 LELRES
11 200m 1674 kI HE 2 | LEERERE
12 200m 1896 BE X 2 E=EHLE
13 200m 2065 IR =8 2 TEE
14 200m 1658 =1 EA 2 AXRLE
15 200m 2006 Zl ik 2 LEHFHO
16 200m 2064 B O 2 TEE At
17 200m 2096 £H 2 LEHEFE
18 200m 2084 B 2 (LFS
19 200m 1907 INFE OEKX 2 LEIXRS
20 200m 1675 Al FE 2 | LEEERERE
21 200m 1065 FAR SR | 1 ftA
22 200m 817 BEXR X 1 N
23 200m 909 X EH 1 LERES
24 200m 956 WE fIE 1 LT
25 200m 2138 FIE 4% 2 HBAHA
26 200m 1084 K A 1 IN=
27 200m 2225 %RE 2 LET
28 200m 1389 ZH G 1 LEIXRS
29 200m 2089 AR PE 2 LESE
30 200m 1266 #H hiE 1 REFF
31 200m 1961 RE EXE 2 7=

32 200m 1062 FE GRI 1 LESE
33 200m 1975 =218 Wik 2 /NS
34 200m 1641 PHOEE 2 (E3E]
35 200m 1986 KB K& 2 EET
36 200m 2071 | {Fi5H fKER 2 BX
37 200m 863 BAX #E 1 IN=} &[4
38 200m 2127 XH E##F 2 FHT
39 200m 1669 i B 2 INZ} 5|4
40 200m 857 FA FIK 1 (E3E]
41 200m 1052 B BF 1 AN =T
42 200m 2176 ® B 2 VN =T
43 200m 1650 I —% 2 | Ri&kd-wis
44 200m 1018 WHE RE3 1 TE
45 200m 2008 =E 2 LEHO
46 200m 899 iH xE 1 LEMF
47 | 200m 2229 R BE 2 /N
48 200m 1416 AT #&35 1 T=

49 200m 1868 x FEE 2 Bk
50 200m 1131 R HL 1 [ Kt
51 200m 908 X FoiE 1 25T
52 200m 1137 EX =X 1 =L E
53 200m 1124 X8 BRI | 1 fHTH
54 200m 1167 =0 BAs 1 =5
55 200m 1020 =l 4 1 T=
56 200m 1652 KH FAE | 2 | ZEk-WIE
57 200m 1875 F# IFER 2 =973
58 200m 1121 NI HEER 1 fHTH
59 200m 1077 BH EBFE 1 AH
60 200m 2093 L#E BEA 2 U ml
61 200m 2099 R @S 2 ERF
62 200m 2223 FH 2 TREFF
63 200m 1025 =RE KiE |1 BES
64 200m 1075 B E 1 BH
65 200m 1111 BH M 1 HHEHHA




No. BEH |Fun-h-+ K4 A FilE
66 200m 1291 HE X 1 =il
67 200m 1382 IS EX 1 mE
68 200m 1034 FI b 1 FLHT
69 200m 1128 AR BRAE 1 [ K B
70 200m 1070 e A= 1 FHKHE
71 200m 2023 #HHE RE 2 AICJ
72 200m 821 fERR #X | 1 NS
73 200m 1340 ELXE =t 1 E&RF
74 200m 1314 FIE AXE 1 LETTI
75 200m 1281 JATE RED 1 EH
76 200m 1061 iR BT 1 K
77 200m 1311 L% B 1 FHKHE
78 200m 1283 & B4 1 EH
79 200m 1313 INER =K 1 LEHTT




No. BE  [Fon-h-F K4 B FiE

1 400m 1673 EM £IF 2 | LEERERE
2 400m 1675 Al FE 2 | LEERERE
3 400m 2006 Zl ik 2 LEHO
4 400m 1707 FH#E BN | 2 BEE
5 400m 1685 aE Z 2 TREIL
6 400m 1927 =i 185 2 =1

7 400m 1636 HE BE 2 LEEE
8 400m 897 FH & 1 IN=EbES
9 400m 1689 I At 2 SfE
10 400m 1639 WK HR 2 LEEE
11 400m 1659 EN AF} | 2 AXHLE
12 400m 953 "R EE 1 AEE
13 400m 939 F)Il #hak 1 ftA
14 400m 1063 AHB LR 1 ftA
15 400m 817 EXR X 1 N
16 400m 1828 i ERK 2 BH
17 400m 1986 KHE K& 2 EET
18 400m 901 ki A= 1 LEHO
19 400m 886 EB 15 1 TREdL
20 400m 1687 ER A 2 SfE
21 400m 1868 x FE 2 A &R
22 400m 2101 TH AFE | 2 E&RF
23 400m 2133 5H £ 2 LIPS
24 400m 1663 FiE M 2 =BR
25 400m 1084 K A 1 IN=
26 400m 1855 AR 5 2 E-a=1itl
27 400m 1996 BR &3 2 REMFF
28 400m 987 WA finx 1 LEIXE
29 400m 1916 Mk HE 2 BX
30 400m 856 A AmE 1 EE
31 400m 1670 XE H—8 | 2 IN=} &[4
32 400m 2130 f2E F® 2 FHT
33 400m 1062 RE {GHI 1 LESRE
34 400m 1124 B BRI | 1 HAT
35 400m 1744 MK Z 2 INCA
36 400m 1131 #XR HL 1 [ K bt
37 400m 909 X EH 1 INCA
38 400m 1858 MK 2 E-a=1itl
39 400m 810 =0 B4 1 AXRLE
40 400m 1665 == 2 EHIAE
41 400m 1278 E ER 1 %
42 400m 1138 BE L& 1 =L E
43 400m 1029 2iE BX 1 EHT
44 400m 2152 ES A 2 LB
45 400m 2098 K ZEAN 2 ERF
46 400m 859 5% #BK 1 INZ} 5[4
47 400m 824 FH B4 1 Nl
48 400m 1048 #E A 1 LB
49 400m 1071 EAKR AR | 1 AH
50 400m 2181 = BE 2 LEHE
51 400m 969 /INA FNFE 1 LEHRT
52 400m 2141 HE RE 2 T=

53 400m 1373 aH #E= 1 T=

54 400m 1127 %H EifE 1 fHTH
55 400m 2188 BH BE 2 /& H
56 400m 1971 T R 2 piirges)
57 400m 1431 F* 1+ EHEE 1 1L1B5
58 400m 1953 fEf Hik 2 LET
59 400m 1317 BHE i 1 25T
60 400m 1166 FAE =Nt 1 yN =T
61 400m 1256 RiE #h#H 1 HBWEA
62 400m 1313 INE TK 1 LEHRT
63 400m 1088 MER B2 1 LESE




No. BE  [Fon-h-F K4 B FiE

1 800m 1648 E@ B 2 | ®i&kd-This
2 800m 1677 A KiE 2 | LEERERE
3 800m 961 Bl =K 1 LET
4 800m 915 T R 1 LEEE
5 800m 1982 T LRk 2 =ET
6 800m 877 TR B3} 1 | IGEEESRB
7 800m 1987 INR IR 2 HHT

8 800m 2081 FE FHE 2 Ea=1iil
9 800m 1859 REXR 1H1E 2 Ea=1iil
10 800m 2167 RH* EX 2 LEIXS
11 800m 2062 58 BX 2 TREIL
12 800m 1980 ERRK &% | 2 /N5
13 800m 1440 WA X 1 FLHT
14 800m 2092 ZH F— 2 ftA
15 800m 2231 AKX Mz 2 BX
16 800m 1853 [R BEF 2 =5
17 800m 1970 &)l B’XK 2 EH
18 800m 983 EAX BN 1 LEIKXS
19 800m 1821 #E ERE 2 =BR
20 | 800m 1921 T K& 2 L5
21 800m 1977 AN 2 [LRE
22 800m 2224 2@ Et 2 7=

23 800m 1947 EFH thEE 2 AT
24 800m 855 BR J& 1 (E3E]
25 800m 870 =H A 1 SfE
26 800m 1130 =28 B 1 PN
27 800m 969 /INA FNFE 1 LETT
28 800m 898 Y 1 LEHEFE
29 800m 1431 1+ HHEE 1 W5
30 800m 1119 HFO M |1 fHTH
31 800m 1282 A X 1 B
32 800m 1319 =ik hE 1 LET
33 800m 1918 EA EiE 2 ftA
34 800m 1078 M ISR 1 BH
35 800m 1127 @R EiE 1 E=hi)
36 800m 1360 % EH 1 L5
37 800m 900 BiE A 1 =SER
38 800m 856 A AmE 1 (E3E]
39 800m 825 Ra BA 1 N
40 800m 906 B 5 1 25T
41 800m 1251 FaiE N 1 LEHO
42 800m 1744 KX = 2 LEREES
43 800m 1249 AZE BHE 1 LEHO
44 800m 1691 B[R FN 2 S1E
45 800m 1257 TH EzN | 1 HEA
46 800m 1079 AT EH 1 AH
47 800m 1053 A EKBER | 1 AN =T
48 800m 2151 Hik K& 2 HAHA
49 800m 1435 B ER 1 [ K B
50 800m 1327 JRE K& 1 HAH
51 800m 988 ZAM & 1 T=

52 800m 1092 Wi Fi 1 LEHE
53 800m 888 —H T# 1 iqES ]
54 800m 1341 NAKx —%F 1 ERF
55 800m 2249 BE EAA 2 ERF
56 800m 819 HRE TR 1 Nl
57 800m 913 MR &£ 1 LEEE
58 800m 1256 RiE #h#H 1 HBWEA
59 800m 1112 WE Eig 1 tHBHe
60 800m 1403 He 4 1 yN =T
61 800m 864 BERE B 1 IN=} 84
62 800m 1395 W R’F 1 LEHE
63 800m 1381 iRE EH 1 =5
64 800m 1401 A F|A 1 yN =T
65 800m 2111 ZARX BX 2 N} %]




No. BE  [Fon-h-F K% B FiE

1 1500m 891 Eik A& 1 ZiEd-THE
2 1500m 1679 (E Hth 2 | LEERERE
3 1500m 922 HBH X 1 LEEE
4 1500m 882 =A A 1 | IGEEESRB
5 1500m 960 T 1 FLHT

6 1500m 1637 g Kz 2 LEEE
7 1500m 961 A N 1 LET
8 1500m 2167 RH#H EX 2 LEIXS
9 1500m 1980 ERRK &% | 2 N5
10 | 1500m 1066 HE ER 1 ftA

11 1500m 2169 il #Bi 2 LEIXS
12 | 1500m 1690 B = 2 SfE
13 1500m 1982 T IRk 2 =BT
14 | 1500m 1988 EH A 2 FLHT
15 | 1500m 905 Fix EF 1 E-a=Niil
16 | 1500m 2073 He [Gth 2 BX
17 | 1500m 2224 2@ Eth 2 7=

18 | 1500m 1970 &l B’XK 2 =M
19 | 1500m 2062 543 EX 2 TEE
20 | 1500m 1877 FA K 2 AH

21 1500m 1947 LF thEd 2 AN
22 | 1500m 1853 [R BEF 2 =5
23 | 1500m 1023 R 8 1 TREA
24 | 1500m 959 Bl RRZ 1 LET
25 | 1500m 940 FA EX 1 ftA
26 | 1500m 2007 M B 2 LEHO
27 | 1500m 1821 #E BB 2 S1ICED
28 | 1500m 1085 2 BN 1 IN=
29 | 1500m 1292 A E2H 1 =Nt
30 | 1500m 855 BhR & 1 EE
31 | 1500m 1921 e K& 2 L5
32 | 1500m 823 B EBX 1 N
33 | 1500m 829 =7 B1E 1 N =Ll
34 | 1500m 907 A UE 1 =BT
35 | 1500m 1648 EMR TR 2 | TiEd-This
36 | 1500m 2067 AR JIEER 2 U ml
37 | 1500m 2102 RIE FE3t 2 EHEF
38 | 1500m 1878 h SHE 2 AH
39 | 1500m 860 BH Ek 1 IN=} &[4
40 | 1500m 1282 BA X 1 EH

41 1500m 1901 AGRHB Hff | 2 ES i
42 | 1500m 1142 R BEIR 1 EF A\
43 | 1500m 2244 BiE RE 2 [ A Bt
44 | 1500m 1998 HE B3} 2 BREMFF
45 | 1500m 812 IE A 1 AXRLE
46 | 1500m 2118 HA &F 2 HH™
47 | 1500m 2222 BELE B 2 S1E
48 | 1500m 1119 HFO M |1 fHTH
49 | 1500m 900 BiE A 1 =SER
50 | 1500m 911 TH Kk— 1 LEREES
51 1500m 1257 TH EzN | 1 HEA
52 | 1500m 1092 W Fig 1 LESE
53 | 1500m 1125 AR EE 1 fHTH
54 | 1500m 1962 A %K 2 T=

55 | 1500m 1274 AR X | 1 AXRLE
56 | 1500m 1277 HLE S5E 1 =973
57 | 1500m 1393 AE X2 1 [ K bt
58 | 1500m 1402 AIE EHF 1 VN =T
59 | 1500m 1404 wme BE 1 EHRF
60 | 1500m 2151 Tk KE 2 tHBHe
61 | 1500m 1248 5 BES 1 LEHO
62 | 1500m 1059 Kix FRRER | 1 ZEE
63 | 1500m 1053 At FERBR | 1 AN =T
64 | 1500m 2095 A% BEE 2 LEMF
65 | 1500m 1668 ok & 2 N} %




No. BEH |Fun-h-+ A P&
66 | 1500m 1026 EARKR ZEHh | 1 BER
67 | 1500m 858 1 (E3E]
68 | 1500m 1243 1 LEHEF
69 | 1500m 2195 2 IN
70 | 1500m 2108 2 REF
71 1500m 2134 2 1]
72 | 1500m 1112 1 HHMHA
73 1500m 1069 1 FHKH
74 | 1500m 1352 1 1]




No. BE  [Fon-h-F K4 B FiE

1 5000m 1679 R mth 2 | LEERERE
2 5000m 1631 I+ 24 2 LEEE
3 5000m 1635 =17 4 2 LEEE
4 5000m 1682 AR ErE 2 | LEERERE
5 5000m 1915 BRZn =M | 2 LEIXS
6 5000m 1917 I EXKBR | 2 ftA

7 5000m 1657 Hoh BRE 2 NS
8 5000m 1834 #HH BEF 2 AXHLE
9 5000m 1690 B = 2 SfE
10 | 5000m 1644 | 2 (E3E]
11 | 5000m 1661 Bi5 EF 2 SICED
12 | 5000m 1697 FaE EKER | 2 AEE
13 | 5000m 1032 LE BX 1 FHT
14 | 5000m 1852 INE BE 2 =5
15 | 5000m 943 X BE 1 AEE
16 | 5000m 2039 FEFD 255 2 SfE
17 | 5000m 903 WA B 1 LEHO
18 | 5000m 1066 KE ER 1 ftA
19 | 5000m 2169 il i 2 LEIXRS
20 | 5000m 2073 He [Gth 2 BX
21 5000m 2016 Bl ith 2 BEET
22 | 5000m 907 il UE 1 =BT
23 | 5000m 1021 X =& 1 TREIE
24 | 5000m 1142 FenE PR 1 e
25 | 5000m 2128 Al sk 2 EHT
26 | 5000m 959 Bl RRZ 1 LET
27 | 5000m 904 HE BX 1 LEFHO
28 | 5000m 911 TH K— 1 LERES
29 | 5000m 1877 P K 2 A H
30 | 5000m 1080 EAE ERK | 1 BH
31 | 5000m 957 BEAR FERE 1 LEET
32 | 5000m 1938 HiE BEF 2 [ K bt
33 | 5000m 1854 HBh A 2 =1
34 | 5000m 1920 Hh kiR 2 =}
35 | 5000m 1085 2 BT 1 IN=
36 | 5000m 1129 WA X 1 [ K bt
37 | 5000m 1023 A o 1 TRE4IE
38 | 5000m 891 Ek L& 1 ZEId-THE
39 | 5000m 1293 IRIE & 1 Tom
40 | 5000m 2067 AR JIEER 2 U ml
41 | 5000m 1836 AR X 2 AXRLE
42 | 5000m 858 Bl K& 1 (E3E]
43 | 5000m 1141 WH FZKE | 1 EHIAE
44 | 5000m 2249 BHE AA 2 ERF
45 | 5000m 2102 RIE B3 2 ERF
46 | 5000m 2108 =F @AX 2 REFF
47 | 5000m 828 Sk BE 1 LB
48 | 5000m 1287 FaiL ERth 1 ZhmH
49 | 5000m 1049 TE Ez 1 L%
50 | 5000m 2116 X B 2 N %
51 5000m 1277 HLE S5E 1 =053
52 | 5000m 1125 AR EE 1 EHH
53 | 5000m 1047 INEH Z=K 1 L%
54 | 5000m 1059 Kix FRRER | 1 ZEE
55 | 5000m 1399 ZH &mh 1 1L1B5
56 | 5000m 1668 ok & 2 N} %]




No. BE  [Fon-h-F K4 B FiE

1 110mH 1640 HF EE 2 (E3E]

2 110mH 1989 = EF 2 FHT

3 110mH 917 IANK R 1 LEEE
4 | 110mH 1926 HEE A 2 L5

5 110mH 834 Bk = 1 SfE

6 110mH 1632 EX EX 2 LEEE
7 110mH 2131 =S 2 HHT

8 110mH 872 MHE K 1 | IGEEESRB
9 110mH 1757 R i 2 LET
10 | 110mH 808 BA KL 1 AXHLE
11 | 110mH 1255 BX BE 1 TREd
12 | 110mH 1073 AME Bk 1 AH
13 | 110mH 1140 AH #ZX 1 E AN an
14 | 110mH 982 KE EZER 1 LEIXS
15 | 110mH 1787 TR EA 2 LEHO
16 | 110mH 809 Bih K5 1 AXRLE
17 | 110mH 970 s BHE 1 LETT
18 | 110mH 1086 HIE BF 1 =1
19 | 110mH 1022 HE Eth 1 TRE4dL
20 | 110mH 861 RE 5 1 IN=Y &4




No. BE  [Fon-h-F K4 B FiE

1 400mH 1673 EM £IF 2 | LEERERE
2 | 400mH 1926 HEE A 2 L5

3 400mH 1989 = EF 2 FHT

4 400mH 1685 aE Z 2 TREIE
5 400mH 2185 1E =iE 2 TREIL
6 400mH 1828 TR OERK 2 ;BH

7 | 400mH 1833 s Bih 2 fit A

8 | 400mH 1855 HE 3% 2 Zhmh
9 400mH 1687 EFR &EA 2 SfE
10 | 400mH 1963 | & T52Fy| 2 TEM
11 | 400mH 834 Bk = 1 SfE
12 | 400mH 1642 + A 2 (E3E]
13 | 400mH 2130 BH F® 2 EHT
14 | 400mH 1858 MK 2 E-a=1itl
15 | 400mH 953 MR EE 1 AEE
16 | 400mH 1981 Bk R 2 EET
17 | 400mH 917 IANK R 1 LEEE
18 | 400mH 1333 ® HE 1 ftA
19 | 400mH 808 BE K 1 ARXELE
20 | 400mH 1971 BT R 2 =M
21 | 400mH 916 ® FH 1 LEEE
22 | 400mH 2225 %E = 2 LT
23 | 400mH 2165 AR BB 2 LEIKXS
24 | 400mH 970 s BHE 1 LETT
25 | 400mH 1073 A FEsk 1 AH
26 | 400mH 1787 TR EA 2 LEHO
27 | 400mH 986 WA 1% 1 LEIXRS
28 | 400mH 1434 HiE E 1 LET
29 | 400mH 809 Eih K5 1 AXRLE
30 | 400mH 2087 k& EA 2 LIPS
31 | 400mH 2142 N 2 7=

32 | 400mH 1140 AH X 1 ESiAN s




No. BE  [Fon-h-F K4 B FiE

1 | 3000mSC 1681 il #8%k 2 | LEERERE
2 | 3000mSC 874 EH Eth 1 | IGEEESRB
3 | 3000mSC 1657 Hoh BRE 2 NS
4 | 3000mSC| 2166 BEX BE 2 LEIXS
5 | 3000mSC 1852 INR BE 2 =5

6 | 3000mSC 1991 R BF 2 FLHT

7 | 3000mSC 1261 =% E 1 LEEE
8 | 3000mSC| 2016 Bl ith 2 BEET
9 |3000mSC| 2041 Heh a%F% 2 SiE
10 | 3000mSC 1901 AGRH Eff | 2 EFapaan
11 | 3000mSC 1856 & Z 2 Zhth
12 | 3000mSC | 2231 AKX Mz 2 B
13 | 3000mSC 1920 Hh kiR 2 =1
14 | 3000mSC 820 KL ERTE 1 N
15 | 3000mSC 1919 Hg theE 2 ftA
16 | 3000mSC| 1030 ARE BE | 1 )
17 | 3000mSC | 2040 &£ 3% 2 SiE
18 | 3000mSC 1835 BA EF 2 AXRLE
19 | 3000mSC 888 —H t# 1 TR
20 | 3000mSC 1319 =ik hE 1 LET
21 | 3000mSC| 1360 % EH 1 L5
22 | 3000mSC | 2083 HFE BB 2 E-a=1iil
23 | 3000mSC 1081 AR FZF 1 BH
24 | 3000mSC 957 BEA FEME 1 LEET
25 | 3000mSC | 2070 R Hth 2 BEA
26 | 3000mSC 811 AR Kih 1 AXRLE
27 | 3000mSC 1338 E KZE 1 TRE4IL
28 | 3000mSC 1141 WH FKXEF | 1 EHIAE
29 | 3000mSC 1082 RHF EBEH 1 AH
30 | 3000mSC 1644 B FH 2 IE3E
31 | 3000mSC 1915 ERZn =M | 2 LEIXRS
32 | 3000mSC 1661 Hi5 BT 2 =SER
33 | 3000mSC 1630 XE BX 2 LEEE




No. BE  [Fon-h-F K4 B FiE
1 | 5000mW 1835 BA EF 2 AXHLE
2 | 5000mW 1953 Emh B 2 LE5T
3 | 5000mW 1139 = X 1 E=EHLE
4 | 5000mW 958 FiE B\ 1 LET
5 | 5000mW 1854 wmh {h 2 =5
6 | 5000mW 1381 RE B 1 =3




